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Study Figure 9, information from a report on debt.

Figure 9

Kenya has only 518 hospital intensive care beds for a population of over 51 million
people. The majority of the poorest people have no access to medical facilities

if they become il Yet Kenya spends more each year on debt repayment (about
$2.7 billon) than on public healthcare (about $1.86 bilion).

Kenya has been given emergency loans worth $739 million. However., to help pay
them back, Kenya has been told it must cut government spending and increase
taxes.

My 2

.[8] Suggest how debt relief can help reduce the development gap.

Use Figure 9 and your own understanding.
[4 marks]
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[0 1]-[6] To what extent has urban growth created social opportunities?

Study Figuro 3, a pholograph of a street class run by volunteers in MXICE 3

Figuro 3

Use Figure 3 and a LIC/NEE example you have studied.
(6 marks]
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EJ uggest how urban transport strategies can be used to reduce traffic congestion.

Use Figure 4 and your own understanding.
[4 marks] |
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7].[7T0| Outline one way in which a UK city you have studied is important in the UK.
[2 marks]

Name of UK city Loverp GD\ \

Importance HQ N%\\\ NT\«\.&\?@\ |\4\\rﬁ\ \w
oug gf o ain a9ty ports o4

I g 50 M5 buge \worfane M
allpyley frule  befween i?ingx





image5.png
\Utban change in the UK has created more economic opportunities than st:dal
~ v

opportunities.” g
e Livereost \ Beates
Chiaatown

Evaluate this statement. Livesposn 2

Use a UK city you have studied.
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